
Cable Support System
s

Unistrut System
s

Kw
ikstrut

Fi
xp

oi
nt

s

126 www.unistrut.com.au

KWIK STRUT PICTORIAL INDEX



Ca
bl

e 
Su

pp
or

t S
ys

te
m

s
Un

is
tru

t S
ys

te
m

s
Kw

ik
st

ru
t

Fi
xp

oi
nt

s

127www.unistrut.com.au

Part No. [ZP] Part No. [HG]

139 10 16 139 10 19 0.100 50

Part No. [ZP] Part No. [HG] G

139 08 21 139 08 23 M8 0.060 50

139 10 21 139 10 23 M10 0.058 50

139 12 21 139 12 23 M12 0.055 50

4

M10

17
40

F4 (3 kN)

F3 (4 kN)

T (40 Nm)

G

2.5
40

40

F3 (5 kN)

KWIKSTRUT NUTS FOR UNISTRUT CHANNEL

QFNH Channel Nut [ZP/HG]

 QRN Channel Nut [ZP/HG]

Part No. [ZP] Part No. [HG] G

139 08 31 139 08 33 M8 0.033 50

139 10 31 139 10 36 M10 0.030 50

139 12 31 139 12 33 M12 0.028 50

34
G

0.8
45

F3 (5 kN)

Part No. G x L  

139 02 53 M10 x 25 0.100 100

139 05 03 M10 x 50 0.110 100

139 10 03 M10 x 100 0.129 100

139 15 03 M10 x 150 0.156 100

139 20 03 M10 x 200 0.168 100

G

L

F3 (5kN)

QCN Channel Nut [ZP/HG]

 QTB Kwik-Washer w/Threaded Rod [ZP]



Cable Support System
s

Unistrut System
s

Kw
ikstrut

Fi
xp

oi
nt

s

128 www.unistrut.com.au

Part No.
ZP

Part No. 
DT

139 01 25 139 01 26 1 & 1 0.125 25

Part No.
ZP

Part No. 
DT

H 
mm

L 
mm

F4 
kN

139 90 55 139 90 56 2 & 2 58 103 2 0.249 10

139 90 65 139 90 66 4 & 4 106 150 3 0.408 10

Part No.
ZP

Part No. 
DT

L 
mm

F4 
kN

139 35 55 139 35 56 2 & 2 56 2 0.249 10

139 35 65 139 35 66 4 & 4 103 3 0.390 10

4

92

52

L

H
F4

4

L

L

135°

F4

4

KWIKSTRUT FLAT PLATE AND ANGLE FITTINGS

QFA – Flat Plate Fitting [ZP/DT] QFAZ – 90° Angle Fitting [ZP/DT]

QFA135 – 135° Angle Fitting [ZP/DT] QFFA – 90° Angle Fitting [ZP/DT]

Part No.
ZP

Part No. 
DT

H 
mm

L 
mm

F4 
kN

139 90 25 139 90 26 1 & 1 65 65 2 0.109 25

139 90 35 139 90 36 1 & 2 110 65 2 0.146 25

139 90 45 139 90 46 2 & 2 110 110 3 0.186 25

Part No.
ZP

Part No. 
DT

L 
mm

F4 
kN

139 35 35 139 35 36 1 & 2 65 2 0.143 25

139 35 45 139 35 46 2 & 2 110 3 0.180 25

H

L

F4

4

110

L

F4

4

QFFA135 – 135° Angle Fitting [ZP/DT] QFFT – 90° Angle Fitting [ZP/DT]

150

66

F4 (2kN)

4

Part No.
ZP

Part No. 
DT

139 01 15 139 01 1 1 & 3 0.187 25



Ca
bl

e 
Su

pp
or

t S
ys

te
m

s
Un

is
tru

t S
ys

te
m

s
Kw

ik
st

ru
t

Fi
xp

oi
nt

s

129www.unistrut.com.au

Part No.
ZP

Part No. 
DT

139 41 18 139 41 08 6 & 4 0.690 25

Part No.
ZP

Part No. 
DT

139 45 25 139 45 26 1 & 1 0.460 25

Part No.
ZP

Part No. 
DT

139 41 38 139 41 33 2 & 1 0.291 25

108

63

175

F4 (3kN)

4

104

104

45°
F4 (2kN)

5

162

52

F4 (2 kN)4

QFT – "U" Shaped Angle Fitting [ZP/DT] QFFA45 – 45° Angle Fitting [ZP/DT]

QFU – "U" Shaped Angle Fitting [ZP/DT] QFCL/QFCR – Wing Shaped Fitting [ZP/DT]

QFCD – Wing Shaped Fitting [ZP/DT] QFMP – Rod Connection Fitting [ZP]

Part No.
ZP

Part No. 
DT

139 41 11 139 41 06 Left 6 & 3 & 3 0.660 10

139 41 12 139 41 07 Right 6 & 3 & 3 0.660 10

Part No.
ZP

Part No. 
DT

139 41 78 139 41 76 6 & 3 & 4 1.100 10

107

62 62

F4 (3kN)

F3 (2kN)
F3 (2kN)

4

62

108

175

F4 (3 kN)

F3 (2 kN)F3 (2 kN)

4

Part No.
ZP

G
H 

mm

139 08 25 M8 2 13 0.274 25

139 10 25 M10 2 13 0.272 25

139 12 25 M12 2 15 0.274 25

139 16 25 *M16 2 18 0.306 25

* Full Weld

H

176
G

56

F4 (3 kN)

F3 (5 kN)

5

KWIKSTRUT ANGLE, "U" & WING SHAPE, ROD CONNECTION FITTINGS



Cable Support System
s

Unistrut System
s

Kw
ikstrut

Fi
xp

oi
nt

s

130 www.unistrut.com.au

Part No.
ZP

G

139 01 35 M8/M10/M12 2 0.514 10

Part No.
ZP

Part No. 
DT

139 41 48 139 41 50 12 0.510 10

QFFC – Rod Connection Fitting [ZP] QFDC – Joiner Fitting [ZP/DT]

150

53

0-180°

G

F4 (3 kN)
5

193

F4 (3 kN)

4

Part No.
ZP

Part No. 
DT

139 01 85 139 01 86 2 & 2 0.448 10

Part No.
ZP

Part No. 
DT

139 01 95 139 01 96 2 & 2 0.510 10

122

122

55

0-90°

F4 (3 kN)

5

122

55

176

0-90°

F4 (3 kN)

5

QFFS – Adjustable Hinge Fitting [ZP/DT] QFFSS – Adj. Hinge & Brace Fitting [ZP/DT]

Part No.
ZP

Part No. 
DT

H 
mm

L 
mm

139 01 55 139 01 56 195 195 0.992 10

139 01 65 139 01 66 210 155 0.778 10

4

L

H

ø12.5

QKON – 90° Angle Fitting [ZP/DT] QB – Angle Bracket [ZP/DT]

Part No.
ZP

Part No. 
DT

139 13 91 139 13 94 0.700 10

QFNH

4

11 x 25

13 x 20

147

197 47

50

11 x 22

KWIKSTRUT ROD CONNECTION, JOINER, HINGE AND BRACKET FITTINGS



Ca
bl

e 
Su

pp
or

t S
ys

te
m

s
Un

is
tru

t S
ys

te
m

s
Kw

ik
st

ru
t

Fi
xp

oi
nt

s

131www.unistrut.com.au

Part No.
ZP

Part No. 
DT

L 
mm

139 30 07 139 30 06 300 0.616 10

139 40 07 139 40 06 400 0.806 10

139 50 07 139 50 06 500 1.026 10

139 60 07 139 60 06 600 1.237 10

L

F (2 kN)

F (2 kN)

Part No.
ZP

Part No. 
DT

L 
mm L

F1 F2

L

F2
150

F3F3
150

F3
150

F4F4
150

F4
150

F4
150

L L

139 41 19 139 41 09 0.752 200 2.37 kN - - - 10

139 41 29 139 41 25 0.873 250 1.55 kN 0.98 kN - - 10

139 41 39 139 41 40 1.113 350 1.15 kN 0.68 kN 0.55 kN - 10

139 41 49 139 41 51 1.362 450 0.92 kN 0.52 kN 0.40 kN 0.36 kN 10

Part No.
ZP

Part No. 
DT /100

139 08 65 139 08 66 2.1 50

139 10 65 139 10 66 2.0 50

139 12 65 139 12 66 1.9 50

56

174

L

d

27

QBF –Angular Base Fitting [ZP/DT]

QLCA – Cantilever Arm [ZP/DT]

QB41 – Base Fitting for P1000  [ZP/DT]

QCA – Cantilever Arm In-Fill Washer [ZP/DT]

QB82 – Base Fitting for P1001 [ZP/DT]

Part No.
ZP

Part No. 
DT

139 41 58 139 41 56 6 0.771 10

Part No.
ZP

Part No. 
DT

139 44 58 139 44 56 6 & 6 1.920 5

130

170
135

62

108

12.5 x 20

8

62
100

130

108

95

12.5 x 20

F4 (30 kN)5

41

41

41

41

41

82

KWIKSTRUT ANGLE BRACE, ARM AND BASE FITTINGS


